Homework Set 3

Notation and Basic Derivatives
(sect 2.3, 3.3, 3.5)

Compute the derivatives of the following functions.

1. f(x)=-235 6. z(a) =e®
fn=o Z'(ay=e"
2. q(x) =sinx 7. h(s)=£‘; =S-q
i
(X\ = COS\ \ -y
1 \f\(s\)-:.-'-\s5 = _S—
3. y=+x
d N 8. y=tanx
dx = 24¥
* * %—} — $€sz
4, =8
i‘l B 5{‘ 9. k(t)=17t
T =
* k'(£) =7

5. g(t) = —cost

3' ()= st 10. p(x) = =3 secx

’PI(X) - =-3 SCCK'E&V\ X

Perform the indicated operation.
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17. Find f'(0) where f(8) = a8? + 5sin 8
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19. Find f""(x) where f(x) = e* — 2x + 1.
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